& doubtnut

India's Number 1 Education App

MATHS

BOOKS - NAGEEN PRAKASHAN ENGLISH

LINEAR INEQUALITIES

1. Solve the inequation 3z —8 < — 2 and

represent the solution on the number line when


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KUmMjRBkdM9x

Dz € R(i)x € Z

(i) z € N.

° Watch Video Solution

2. solve 2(2¢x+3)—-10<6(zx—2) and

represent this solution on real line.

o Watch Video Solution

3(x —2) 5(2 — x)

3. Solve the i ti — <
olve the inequation = < 3

and represent this solution on number line.

| e |



https://dl.doubtnut.com/l/_KUmMjRBkdM9x
https://dl.doubtnut.com/l/_hNlTRsANSo4B
https://dl.doubtnut.com/l/_bcUxDG0FSB1G

| & Watch Video Solution

2z — 3

4
4. solve the inequation +9>3+ ?a:

and represent this solution on number line.

° Watch Video Solution

r +1

1
T+ 3 -

5. solve the inequation

° Watch Video Solution

r — 2
T+ 5

6. solve the inequation > 2.



https://dl.doubtnut.com/l/_bcUxDG0FSB1G
https://dl.doubtnut.com/l/_MLwc9eCgiejh
https://dl.doubtnut.com/l/_P4yQLlOWgm22
https://dl.doubtnut.com/l/_xyQk4qn7wTsv

0 Watch Video Solution

2¢ + 4
m_

7. solve the inequation > 5 and

represent this solution on the number line.

° Watch Video Solution

1

T 4
8.solve: — < — = < =
- 2 3 §

1
3

° Watch Video Solution



https://dl.doubtnut.com/l/_xyQk4qn7wTsv
https://dl.doubtnut.com/l/_fnY7N7M6p0JF
https://dl.doubtnut.com/l/_XXt36oDlCGQK

9.solve: |3z — 2| <1

° Watch Video Solution

10. Solve :

>1,x #3
3 7

O Watch Video Solution

| — 2

11. Solve: > 1, wherex € R,z # =+ 2.

0 Watch Video Solution



https://dl.doubtnut.com/l/_Q6BgBzZJVByi
https://dl.doubtnut.com/l/_8Bcod4k2UODF
https://dl.doubtnut.com/l/_AUcjFKFUKaX0
https://dl.doubtnut.com/l/_zGX3D7yzFuZK

12.solve: |t — 2| + |z — 4] > 8

° Watch Video Solution

r — 1
x+1

13. solve : <1

Aze(—oo, —1)U(0,00)
B.z € (— o0, —1] U (0, )
C.xz € (— o0, —1)U]J0,00)

D.z € ( — 00, 00)

Answer: A



https://dl.doubtnut.com/l/_zGX3D7yzFuZK
https://dl.doubtnut.com/l/_vpr4ScI2mTPs

‘ ° Watch Video Solution

14. Find all pairs of consecutive even numbers
which are greater than 8 and their sum is

smaller then 27.

° Watch Video Solution

15. A student scores 65, 62 70 marks is 3
subjects. Find the minimum marks scored by him

in 4th subject to get an average of 64 minimun.

° Watch Video Solution



https://dl.doubtnut.com/l/_vpr4ScI2mTPs
https://dl.doubtnut.com/l/_9IUhcw2ybRvb
https://dl.doubtnut.com/l/_SkyaeW3swnJG

16. The largest side of a triangle is twice the
smallest side. Its largest side is 3 cm more than
the third side. Find the minimum length of the
smallest side if the minimum perimeter of the

triangle is 62 cm.

o Watch Video Solution

17. 1Q of a person is given by the formula

MA
IQ =
@ CA

CA = chronological age. If 1Q for a group of 10

x 100 where MA = mental age and


https://dl.doubtnut.com/l/_SkyaeW3swnJG
https://dl.doubtnut.com/l/_s818gjXSV4lc
https://dl.doubtnut.com/l/_kIIpWCcNPb50

years children is given by the inequation
70 < IQ) < 140, find the range of their mental

age.

° Watch Video Solution

18. A solution is to be kept between
59°F and 77° F. What is the range of
temperature in degree celcius (C) if the Celcius-

farhenheit conversion formula is:

9
F:€C+32

° Watch Video Solution



https://dl.doubtnut.com/l/_kIIpWCcNPb50
https://dl.doubtnut.com/l/_Y8tVCfiN0C3X

19. A manufacturer has 600 liters of 12% solution
of acid. How many litres of a 30% acid solution
must be added to it so that the acid content in
the resulting mixture will be more then 15% but

less than 18%?

° Watch Video Solution

20. Solve the following inequation graphically:

2 +3y < 6

o Watch Video Solution



https://dl.doubtnut.com/l/_svyR6QVYvc8v
https://dl.doubtnut.com/l/_vCGFQfGYCYYM

21.solve the inequation 2z — y > 3 by graphical

method.

° Watch Video Solution

22. Solve the inequation  + y < 5 by graphical

method.

° Watch Video Solution

23. Solve the following system of linear

inequation graphically:


https://dl.doubtnut.com/l/_Fks9UEYe978c
https://dl.doubtnut.com/l/_RbVoJ8SClOlI
https://dl.doubtnut.com/l/_psdf2EO4xAEW

2¢ + 3y <6, 3x + 22y <6, x >0, y >0

° Watch Video Solution

24. solve the following system of inequation by

graphical method : 5z + 4y < 40,z > 2,y > 3

0 Watch Video Solution

Exercise


https://dl.doubtnut.com/l/_psdf2EO4xAEW
https://dl.doubtnut.com/l/_5IaK2E9P1IEO

1. Solve the inequation 3z — 2 <5 If (i) x € N
(i) x € R and represent the solution on the

number line

° Watch Video Solution

2.Solve the inequation 12z < 50 If (i) x € Z (ii)
X € R and represent the solution on the

number line

0 Watch Video Solution



https://dl.doubtnut.com/l/_watO9vC33NOU
https://dl.doubtnut.com/l/_vM4jI3Bh37oV

3. Solve the inequation 3z +8 > 2If (i) x € N
(i) X & R and represent the solution on the

number line

° Watch Video Solution

4. Solve the inequation 6z — 5 < 7 If (i) x € |
(i) x € R and represent the solution on the

number line

° Watch Video Solution



https://dl.doubtnut.com/l/_bqKD1CB6uZZP
https://dl.doubtnut.com/l/_x4jlaKqysCgv

5. Solve the inequation 30z < 200 If (i) x € Z
(i) x & N and represent the solution on the

number line

° Watch Video Solution

6. Solve the inequation 5z — 5 < — 5 If (i) x €
z (i) zin R and represent the solution on the

number line

0 Watch Video Solution



https://dl.doubtnut.com/l/_WRtuI7GGaeuG
https://dl.doubtnut.com/l/_gIyzZzF5Bwb6

7.Solve the inequation 3z — 7 < 5z — 3If x €

R and represent the solution on the number line

° Watch Video Solution

8.Solve the inequation 3(z — 1) < 2(z — 3) If x
€ R and represent the solution on the number

line

o Watch Video Solution



https://dl.doubtnut.com/l/_PjJNrZAjygzl
https://dl.doubtnut.com/l/_RIUjW20TbD7W

9.Solve the inequation 5z — 2 > 3z — 11If x €

R and represent the solution on the number line

° Watch Video Solution

10. Solve the inequation 2z + 5 > — bz + 12 If
X € R and represent the solution on the

number line

o Watch Video Solution

11. Solve :


https://dl.doubtnut.com/l/_yRvzTrqj2VZn
https://dl.doubtnut.com/l/_sYqxYoqJn8pj
https://dl.doubtnut.com/l/_MTFqncnSMLC5

° Watch Video Solution

— 1
3 4+1>w—|—

12. solve :
Y =72

° Watch Video Solution

3z
13. Solve : 3(? + 4) > 2(xz — 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_MTFqncnSMLC5
https://dl.doubtnut.com/l/_iHBvXSthmvWH
https://dl.doubtnut.com/l/_F4HVYzHCCR1S

14. Solve the inequalities for real x

z (bz—2) (7z—3)
173 T 5

O Watch Video Solution

0 Watch Video Solution

8 — 3x
>

T
16. Solve : —
olve 6 2

+ 4

° Watch Video Solution



https://dl.doubtnut.com/l/_u5ith0M3ZET3
https://dl.doubtnut.com/l/_Lq6ela3tEzoh
https://dl.doubtnut.com/l/_2dkcCwLWI29D

X T
olve: x + 5 + 3 >

° Watch Video Solution

80 S . ( ) < I

0 Watch Video Solution

19.Solve : 2(bx — 7) > 3(4x — 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_2dkcCwLWI29D
https://dl.doubtnut.com/l/_eJoUyQRJYQdI
https://dl.doubtnut.com/l/_o083di3jV4UW
https://dl.doubtnut.com/l/_v00x0XibiwI1

%% e — 1
20.Solve: — — 1 <
olve 4 ~ 3

° Watch Video Solution

e — 2 —
21.Solve : v < dr — 7
3 2

° Watch Video Solution

T T
olve 1 < 3 +

° Watch Video Solution



https://dl.doubtnut.com/l/_oXMU4VWlMicV
https://dl.doubtnut.com/l/_aWDRZ9V5vjkH
https://dl.doubtnut.com/l/_adJnXljttACM
https://dl.doubtnut.com/l/_9DkOx3Ee8ncX

23.Solve : <0

Tz — 3

° Watch Video Solution

r—1

w_

24.Solve : > 1

° Watch Video Solution

25.Solve : >0

r+ 3

o Watch Video Solution



https://dl.doubtnut.com/l/_9DkOx3Ee8ncX
https://dl.doubtnut.com/l/_7dAJEJ3kboKb
https://dl.doubtnut.com/l/_WUB7G0721YkL

T+ 2

0
z +1 <

26. Solve :

° Watch Video Solution

20 — 1

27.Solve :
T + 2

° Watch Video Solution

28.Solve:z+2>0and 2z —5 <0

° Watch Video Solution



https://dl.doubtnut.com/l/_Pk6JayvLLZ1X
https://dl.doubtnut.com/l/_tbu5vTjkK1e2
https://dl.doubtnut.com/l/_A5eYzFYWmyEJ
https://dl.doubtnut.com/l/_cBwqpgcIVy6X

29.Solve:5 — 2 <11 and 4z —3 > 9

° Watch Video Solution

30. Solve

5% 4 — 1 2z + 1
— 4

1 > 3 and 4z + 3 < 3

O Watch Video Solution

20 — 1 1 11
§2:c—|——§7—|—:c

31.Solve :
olve 5 5

0 Watch Video Solution



https://dl.doubtnut.com/l/_cBwqpgcIVy6X
https://dl.doubtnut.com/l/_1Q7c68vY1Hx8
https://dl.doubtnut.com/l/_OvIIMGhxRqNB

32.50lve: 6 < — 3(2x —4) < 12

° Watch Video Solution

3x
33.Solve: —12 < 4 + = < 2

° Watch Video Solution

34.Solve: |z — 3| <1


https://dl.doubtnut.com/l/_AxOawelWHRHx
https://dl.doubtnut.com/l/_NGQvEHkPJu26
https://dl.doubtnut.com/l/_Y6JN0iLOQJds

Answer: N/a

° Watch Video Solution

35.50lve: |z + 2| < 3

° Watch Video Solution

36.Solve: |2z — 1| > 2



https://dl.doubtnut.com/l/_Y6JN0iLOQJds
https://dl.doubtnut.com/l/_z6AFjDa1h8pr
https://dl.doubtnut.com/l/_fy6xKZzA4nZc

° Watch Video Solution

<
m_l‘_?),m#l/2

O Watch Video Solution

38. Solve:

> 1,z # 3
3 7

° Watch Video Solution

z| -1

| — 2

39. Solve : >0,z # £2



https://dl.doubtnut.com/l/_fy6xKZzA4nZc
https://dl.doubtnut.com/l/_cJuTQzVtL8uK
https://dl.doubtnut.com/l/_UuZThBu8GKsr
https://dl.doubtnut.com/l/_YHOYSUcg22DC

[ & Watch Video Solution ]

° Watch Video Solution

41.Solve: |z — 1| + |z — 2| > 3

° Watch Video Solution

42, If X satisfies

lz — 1] + |z — 2| + |z — 3] > 6, then


https://dl.doubtnut.com/l/_YHOYSUcg22DC
https://dl.doubtnut.com/l/_IfpTrwpzA5a6
https://dl.doubtnut.com/l/_tCm5DneLhzTH
https://dl.doubtnut.com/l/_vS3oPAl4rDBK

0 Watch Video Solution

43.Solve: |z — 3| + |z — 5| > 9

° Watch Video Solution

44, Find all pairs of consecutive odd integers
both of which are smaller than 12 and their sum

is more than 11.

° Watch Video Solution



https://dl.doubtnut.com/l/_vS3oPAl4rDBK
https://dl.doubtnut.com/l/_r2d5gNQuRAry
https://dl.doubtnut.com/l/_q87oEwWy3ClV
https://dl.doubtnut.com/l/_wkRjRv8nL5fn

45. Find all pairs of consecutive even integers
both of which are greater than 7 and their sum

is less than 25.

o Watch Video Solution

46. Find all pairs of consecutive even integers
both of which are greater than 6 and their sum

is less than 27.

o Watch Video Solution



https://dl.doubtnut.com/l/_wkRjRv8nL5fn
https://dl.doubtnut.com/l/_RWDo1hR4Rist

47. A student obtained 60, 62, 64 and 66 marks
in 4 subjects in an examination. Find the
minimum marks he should get in 5th subject to

have an average of at least 65 marks.

o Watch Video Solution

48. A student obtained 62 and 48 marks in the
first and secound examinations of class XI. Find
the minimum marks he should get in annul
examination to have an average of at least 60

marks.



https://dl.doubtnut.com/l/_f4xnYPil2hdg
https://dl.doubtnut.com/l/_5RpgQCpPhfAA

° Watch Video Solution

49, The water acidity in a pool is considered
normal when the average pH reading of three
daily measurements is between 7.2 and 7.8. If the
first tow pH reading are 748 and 7.85, find the
range of pH value for the third reading that will

result in the acidity level being normal.

° Watch Video Solution



https://dl.doubtnut.com/l/_5RpgQCpPhfAA
https://dl.doubtnut.com/l/_wrlzS7hzRRyJ

50. The longest side of a triangle is three times
the shortest side and the third side is 2 cm
shorter than the longest side if the perimeter of
the triangles at least 61 cm, find the minimum

length of the shortest side.

o Watch Video Solution

51. A man wants to cut three lengths from a
single piece of board of length 91cm The second
length is to be 3 cm longer than the shortest

and the third length is to be twice as long as the


https://dl.doubtnut.com/l/_LCOjZqCOGqWf
https://dl.doubtnut.com/l/_DrzBOY9eHna9

shortest. What are the possible lengths of the

shortest board

° Watch Video Solution

52. A solution is to be kept between
50° F and 68° F. What is the range of
temperature in degree celcius if Celcius-
farhenheit conversion formual is

9
F:gC+32

o Watch Video Solution



https://dl.doubtnut.com/l/_DrzBOY9eHna9
https://dl.doubtnut.com/l/_FlEefIqs00I1
https://dl.doubtnut.com/l/_9zoX0iYtp4Xs

53. A solution is to be kept between
40°C and 60°C. What is the range of

temperature in farhenheit if Celcius-farhenheit

9
conversion formual is : F' = EC + 32

° Watch Video Solution

54. How may litres of water will have to be
added to 1125 litres of the 45 % solution of acid
so that the resulting mixture will contain more

than 25 % but less than 30% acid content?

o Watch Video Solution



https://dl.doubtnut.com/l/_9zoX0iYtp4Xs
https://dl.doubtnut.com/l/_JmE36E1lljWR

55. A solution of 8% boric acid is to be diluted by
adding a 2% boric acid solution to it. The
resulting mixture is to be more than 4% but less
than 6% boric acid. If there are 640litres of the
8% solution, how many litres of 2% solution will

have to be added?

o Watch Video Solution

56. If the cost and revenue funcation of a
product are respectively C(z) = 5z + 700 and

R(x) = 15z + 100 , where z is the number of


https://dl.doubtnut.com/l/_RRcOA4vaz2re
https://dl.doubtnut.com/l/_4d0nyh4EZ8qT

products then what will be the value of z to get

profit ?

° Watch Video Solution

57.Solve 22 + 5y > 10

0 Watch Video Solution

58.x — 2y < 4

0 Watch Video Solution



https://dl.doubtnut.com/l/_4d0nyh4EZ8qT
https://dl.doubtnut.com/l/_e6mpnawbLWdE
https://dl.doubtnut.com/l/_aH5lNw7HsLhW
https://dl.doubtnut.com/l/_UXya3YmM4qDz

5.2 + 4y > 8

° Watch Video Solution

60.3y — 5 < 15

° Watch Video Solution

6.2z +y >0

° Watch Video Solution



https://dl.doubtnut.com/l/_UXya3YmM4qDz
https://dl.doubtnut.com/l/_EqF5RjcRRCJa
https://dl.doubtnut.com/l/_BszAolxmYKUa
https://dl.doubtnut.com/l/_J7ePtH9OT7sM

62.2x +y< 6,z +2y<8zxz>0,y=>0

° Watch Video Solution

63. Solve the following system of inequations
graphically

z+y<10,z+3y <15,z >0,y >0

° Watch Video Solution

64.c+y<10,4x +3y < 24,2 >0,y > 0

° Watch Video Solution



https://dl.doubtnut.com/l/_J7ePtH9OT7sM
https://dl.doubtnut.com/l/_qEJDQz1EEgvl
https://dl.doubtnut.com/l/_fPg5lPJ0v4TQ

65.x + 2y < 40,2x +y <40, >0,y >0

° Watch Video Solution

66.2r +y>6,z+2y>8 x>0,y >0

° Watch Video Solution

67. Show that the following system of linear
inequalities has no solutin

x+2y<33xc+4y>12,z > 0,y > 1.


https://dl.doubtnut.com/l/_fPg5lPJ0v4TQ
https://dl.doubtnut.com/l/_c9Nm22LHWal5
https://dl.doubtnut.com/l/_1puOEoHo6dYQ
https://dl.doubtnut.com/l/_bGM3sZPgWAN1

0 Watch Video Solution

68.

z+2y<10,z4+y>l,z—y<0,z>0,y>0

° Watch Video Solution

69. Solve the Following System of Inequalities
Graphically

d3r +4y <60,z > 2y, z > 1,y >0

° Watch Video Solution



https://dl.doubtnut.com/l/_bGM3sZPgWAN1
https://dl.doubtnut.com/l/_Hu2gqBqDgso7
https://dl.doubtnut.com/l/_xCBKKWf6uKNM

70. Solve the Following System of Inequalities
Graphically

3x +2y< 6,z >1,9y > 2

° Watch Video Solution

71. Solve the Following System of Inequalities
Graphically

r+y<9%z>yz>0y=>0

0 Watch Video Solution



https://dl.doubtnut.com/l/_10Y6IdvPi2R5
https://dl.doubtnut.com/l/_O8p2Kz9G3gLC

722 —y< 2,z +y<4,x>0,y>0

° Watch Video Solution

By—2zr<l,z+y<2,2>0,y>0

° Watch Video Solution

4.2z —y > 1,2y—x > 1

° Watch Video Solution



https://dl.doubtnut.com/l/_atvpkWJos283
https://dl.doubtnut.com/l/_pnWm05prCbpu
https://dl.doubtnut.com/l/_dydSPwNOH8Ff
https://dl.doubtnut.com/l/_Q5O97dHgLC9n

75.¢c+y>24,2x +y>32,z >0,y >0

° Watch Video Solution

76. Solve the given linear inequality and specify
the bounded region.

2r+y>2,r—y<l,z+2y<8x>0,y>0

° Watch Video Solution

Ncert Question


https://dl.doubtnut.com/l/_Q5O97dHgLC9n
https://dl.doubtnut.com/l/_M8UsuqmrdCkg
https://dl.doubtnut.com/l/_pKFVOH75cfI5

1. Solve 24x < 100, when (i) x is a natural

number. (ii) x is an integer.

° Watch Video Solution

2.Solve 122 > 30, when (i) x is a natural

number. (ii) x is an integer

0 Watch Video Solution

3.Solve bx — 3 < 7, when (i) x is integer. (ii) x is

a real number.


https://dl.doubtnut.com/l/_pKFVOH75cfI5
https://dl.doubtnut.com/l/_Yvuhz7zoRi4y
https://dl.doubtnut.com/l/_q42h5DtCTSnF

0 Watch Video Solution

4.Solve 3x + 8 > 2, when (i) x is an integer. (ii) x

is a real number.

° Watch Video Solution

5. solve the inequalities for

dr +3 < bx + 7

real

X

’

° Watch Video Solution



https://dl.doubtnut.com/l/_q42h5DtCTSnF
https://dl.doubtnut.com/l/_ctGNmlfcjHuS
https://dl.doubtnut.com/l/_aFurY3xFEW2E
https://dl.doubtnut.com/l/_UdVMD7LVgUNv

6. solve the inequalities for real x

3 —7>b6xr —1

0 Watch Video Solution

7. Solve the inequalities for real x

3(x—1) <2(x —3)

° Watch Video Solution

8.3(2—z) >2(1—x)

° Watch Video Solution



https://dl.doubtnut.com/l/_UdVMD7LVgUNv
https://dl.doubtnut.com/l/_kaK9hm9TD8cM
https://dl.doubtnut.com/l/_XoUeo2UXfud4

9. Solve the inequalities for real x

T T
— 4+ — 11
a:—|—2-|-3<

° Watch Video Solution

10. Solve the inequalities for real x : % > % + 1

0 Watch Video Solution

1. solve the inequalities for real x

3(x — 2) - 5(2 — x)
5 - 3


https://dl.doubtnut.com/l/_XoUeo2UXfud4
https://dl.doubtnut.com/l/_r4LMXu4f6fB9
https://dl.doubtnut.com/l/_s1SfLJoVFFaf
https://dl.doubtnut.com/l/_8uW9hZylhuMm

0 Watch Video Solution

12. solve the inequalities for real x

1/ 3z 4>1 6
7\5 "4 =30

° Watch Video Solution

13. Solve the inequalities for real x

2(2x + 3) — 10 < 6(z — 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_8uW9hZylhuMm
https://dl.doubtnut.com/l/_g3tEXIEUnvsv
https://dl.doubtnut.com/l/_4h2Vz2bNPzSn
https://dl.doubtnut.com/l/_ri5s96cXAcAY

14.37 — (3z +5) > 9z — 8(z — 3)

0 Watch Video Solution

e _(2-2) (Tz-3)

15. —
54 3 5

° Watch Video Solution

6. (2¢ — 1) - (3z — 2) B (2 —z)

3 - 41 5

° Watch Video Solution



https://dl.doubtnut.com/l/_ri5s96cXAcAY
https://dl.doubtnut.com/l/_W4v60lGFOj2r
https://dl.doubtnut.com/l/_VN7hSoamYnPu

17.3c — 2 < 2x + 1

o Watch Video Solution

18.5z —3 > 3x — 5

° Watch Video Solution

19.3(1 — z) < 2(z + 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_EM95PM26wfzf
https://dl.doubtnut.com/l/_7T4BMCJsyDML
https://dl.doubtnut.com/l/_02X9jBRKlG1a
https://dl.doubtnut.com/l/_DRhnyXJwwgnf

20— > — 2~ — ——~
02_ 3 5

° Watch Video Solution

21. Ravi obtained 70 and 75 marks in first two
unit test. Find the minimum marks he should
get in the third test to have an average of at

least 60 marks.

° Watch Video Solution



https://dl.doubtnut.com/l/_DRhnyXJwwgnf
https://dl.doubtnut.com/l/_fuoGrL8YClMc

22. To receive Grade A in a course, one must
obtain an average of 90 marks or more in five
examinations (each of 100 marks). If Sunita s
marks in first four examinations are 87, 92, 94
and 95, find minimum marks that Sunita must

obtain m fifth examin

o Watch Video Solution

23. Find all pairs of consecutive odd positive
integers both of the which are taller than 10

such that their sum is more than 11.



https://dl.doubtnut.com/l/_3Uj3WlMdPgCZ
https://dl.doubtnut.com/l/_LyRwAH1pCrA1

° Watch Video Solution

24. Find all pairs of consecutive even positive
integers, both of which are larger than 5, such

that their sum is less than 23.

o Watch Video Solution

25. The longest side of a triangle is three times
the shortest side and the third side is 2 cm

shorter than the longest side. If the perimeter of


https://dl.doubtnut.com/l/_LyRwAH1pCrA1
https://dl.doubtnut.com/l/_rZk3iy0OKfgE
https://dl.doubtnut.com/l/_S4HGntO5KKQn

the triangle is at least 61 cm, find the minimum

length of the shortest side.

° Watch Video Solution

26. A man wants to cut three lengths from a
single piece of board of length 91cm The second
length is to be 3 cm longer than the shortest
and the third length is to be twice as long as the
shortest. What are the possible lengths of the

shortest board

° Watch Video Solution



https://dl.doubtnut.com/l/_S4HGntO5KKQn
https://dl.doubtnut.com/l/_6oTjSIMuxjck

27.Shade the region given by inequality

Tz +y<9d

° Watch Video Solution

28. Shade the region given by inequality

2c +y > 6

° Watch Video Solution

29.3z + 4y < 12

&


https://dl.doubtnut.com/l/_YWe8Ue6lRD6n
https://dl.doubtnut.com/l/_Id4f8rqc4WXC
https://dl.doubtnut.com/l/_tGWAfsTHSW6J

| = Vvvatch viaeo solution

30. GIVEN INEQUATION: y + 8 > 2z

o Watch Video Solution

3l —y<2

° Watch Video Solution

3222 — 3y > 6

° Watch Video Solution



https://dl.doubtnut.com/l/_tGWAfsTHSW6J
https://dl.doubtnut.com/l/_J8WXADqCSTar
https://dl.doubtnut.com/l/_01vYUXulEmAE
https://dl.doubtnut.com/l/_wxCXBWxDUFN6

33.-3z+2y> —6

° Watch Video Solution

34. 3y — 5z < 30

° Watch Video Solution

35,y < — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_wxCXBWxDUFN6
https://dl.doubtnut.com/l/_BenEHNeiLEkz
https://dl.doubtnut.com/l/_6ROedXyEpNuF
https://dl.doubtnut.com/l/_Lm7lKFWv9KSm

36.x > — 3

o Watch Video Solution

37.plotx > 3,y > 2

° Watch Video Solution

38.3x +2y < 12,z > 1,y > 2

° Watch Video Solution



https://dl.doubtnut.com/l/_Lm7lKFWv9KSm
https://dl.doubtnut.com/l/_A9UIwVEIEPzl
https://dl.doubtnut.com/l/_IjimGknDLJj8
https://dl.doubtnut.com/l/_69NinQrrP1Ni

39.2z +y > 6,3z + 4y < 12

° Watch Video Solution

40.z +y>4,2z —y <0

° Watch Video Solution

41. Solve the linear inequalities

2¢ —y> 1,z — 2y <1

° Watch Video Solution



https://dl.doubtnut.com/l/_RY2Iqqpxtitk
https://dl.doubtnut.com/l/_EaYS6CZ2ZxYM
https://dl.doubtnut.com/l/_ZIQkPwOh2tdN

42.z+y< 6,z +y>4

° Watch Video Solution

43.2x +y > 8,z + 2y > 10

O Watch Video Solution

44. Find common region of given inequation

zc+y<9%9 x>y x>0

° Watch Video Solution



https://dl.doubtnut.com/l/_ZIQkPwOh2tdN
https://dl.doubtnut.com/l/_y7HeFJSIY6yN
https://dl.doubtnut.com/l/_V6eE70FxN46g
https://dl.doubtnut.com/l/_oYxkFJwSFWKL

45. Solve the system of inequalities graphically :

Sr +4y < 20,x > 1,y > 2

° Watch Video Solution

46. Find the common region of given inequation

3z +4y <60,z +3y <30,z >0,y >0

° Watch Video Solution



https://dl.doubtnut.com/l/_oYxkFJwSFWKL
https://dl.doubtnut.com/l/_XAAexxNbe51i
https://dl.doubtnut.com/l/_01pDoLJn1III

47.Solve the linear inequalities.

2r+y>4,rc+y<3,2xr—3y<6

° Watch Video Solution

48. Show that the following system of linear
inequalities has no solutin

x+2y<33x+4y>12,z > 0,y > 1.

o Watch Video Solution

49.4x + 3y < 60,y > 2z, > 3,x,y > 0


https://dl.doubtnut.com/l/_YUc8RNwPfmKF
https://dl.doubtnut.com/l/_IV40yN7OPfFQ
https://dl.doubtnut.com/l/_TrHyIyZ4Tfjo

0 Watch Video Solution

50. Show the common solution of given
inequalities and shade the region bounded by

them .

3r + 2y <150, x +4y <80, x <15,y >0,z >0

° Watch Video Solution

51.

x+2y<10,z+y>lL,z—y<0,x>0,y>0

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_TrHyIyZ4Tfjo
https://dl.doubtnut.com/l/_y5ZGg72dMlwf
https://dl.doubtnut.com/l/_kVSt95oOzuQX

Miscellaneous Exercise

1.2 < 3z —4 < 5find x

° Watch Video Solution

2.6 < —3(2z —4) < 12

° Watch Video Solution



https://dl.doubtnut.com/l/_kVSt95oOzuQX
https://dl.doubtnut.com/l/_RWjY04BNGNcH
https://dl.doubtnut.com/l/_heedTK9648Qa

3.—3§4—77x§10

° Watch Video Solution

T
4. -15< —— <0

o Watch Video Solution

3
5.—12<4——5 < 2

o Watch Video Solution



https://dl.doubtnut.com/l/_1EmMYu1RTx9r
https://dl.doubtnut.com/l/_upi3mewIV9zb
https://dl.doubtnut.com/l/_dPFN8BJSBQ3Z
https://dl.doubtnut.com/l/_QmXV5NRxr5sF

3z + 11
6.7 < ( 5 ) <11

° Watch Video Solution

750 +1> — 24,52 — 1 < 24

O Watch Video Solution

82(X-1)<X+53X+2) >2-X

0 Watch Video Solution



https://dl.doubtnut.com/l/_QmXV5NRxr5sF
https://dl.doubtnut.com/l/_HCw6VpA5OLeM
https://dl.doubtnut.com/l/_grk7jUj6sYtx
https://dl.doubtnut.com/l/_uw8E1wkIzGvd

9.3x — 7> 2(x—6),6—z > 11— 2z

° Watch Video Solution

10.

5(2z — 7) — 3(2z +3) < 0,2z + 19 < 6z + 47

° Watch Video Solution

11. A solution is to be kept between 680F and

770oF . What is the range in temperature in


https://dl.doubtnut.com/l/_uw8E1wkIzGvd
https://dl.doubtnut.com/l/_LRJWd76JCrCq
https://dl.doubtnut.com/l/_azQ4l0YhSQni

degree Celsius (C) if the Celsius / Fahrenheit (F)

conversion formula is given by F' = EC + 327

° Watch Video Solution

12. A solution of 8% boric acid is to be diluted by
adding a 2% boric acid solution to it. The
resulting mixture is to be more than 4% but less
than 6% boric acid. If there are 640litres of the
8% solution, how many litres of 2% solution will

have to be added?

° Watch Video Solution



https://dl.doubtnut.com/l/_azQ4l0YhSQni
https://dl.doubtnut.com/l/_h4yraUziZMH4

13. How may litres of water will have to be added
to 1125 litres of the 45 % solution of acid so
that the resulting mixture will contain more

than 25 % but less than 30% acid content?

o Watch Video Solution

14. 1Q of a person is given by formula: 1Q

M
= o4 x 100, where M A is mental age and
CA is chronological age. If 80 < IQ) < 140 for a
group of 12 year children, find the range of their

mental age.


https://dl.doubtnut.com/l/_6BslfLlrTJpp
https://dl.doubtnut.com/l/_8TAV9Z4marcl

o Watch Video Solution



https://dl.doubtnut.com/l/_8TAV9Z4marcl

